DEPARTMENT OF BMS

SEMESTER 2 ATKT INTERNALS QUESTIONS:

· PRINCIPLES OF MANAGEMENT – 
1066 
Q.1 What is span of control?
Q.2 What is MBO?
Q.3 Explain 14 Principles of Management.
Q.4 Explain essentials of coordination.
Q.5 Distinguish line and staff organisation.
· INDUSTRIAL LAW – 
1066 
Q.1 Which are different authorities under industrial dispute act for resolving industrial disputes?
Q.2 Explain welfare and health provision under factories act.
Q.3 What are the provisions related to compensation for disablement of employees under employee’s compensation act?
Q.4 What are the various benefits given under employee’s state insurance act?
Q.5 Please explain pension scheme under provident fund act.

1106 
Q.1 What are the various deductions permitted under payment of wages act?
Q.2explain the payment of bonus and maximum and minimum bonus under bonus act.
Q.3 who is eligible for gratuity and when the gratuity is forfeited?
Q.4 explain strike and lock out
Q.5explain registration procedure of trade union and how the general fund of trade union are spent?
· PRINCIPLES OF MARKETING – 
1066 
Q.1 Explain marketing research.
Q.2 What is Branding?
Q.3 Explain four P’s of marketing.
Q.4 Distinguish between marketing and selling.
Q.5 Explain the scope of marketing.
· BUSINESS COMMUNICATION – 
1066 
Q.1 How do you organize a conference?
Q.2 What are the advantages and disadvantages of meeting?
Q.3 What are the external measures of public relation?
Q.4 What are the internal measures of public relation?
Q.5 Describe different types of interviews.

· FOUNDATION COURSE – 
1066 
Q.1 Explain essentials of privatization.
Q.2 Explain importance of globalization.
Q.3 Discuss effects of migration.
Q.4 Explain methods to resolve stress.
Q.5 Explain ecology and ecosystem.

· BUSINESS ENVIRONMENT – 
1066 
Q.1 Explain difference between internal and external environment.
Q.2 Which are various types of business organization?
Q.3 Explain advantages and disadvantages of technology.
Q.4 Discuss Michael Porter’s model in detail
Q.5 What are Sunrise sector? Explain various sunrise sectors in India.

· [bookmark: _GoBack]BUSINESS MATHEMATICS – 
1066 
	Q.1
	Solve the linear equations using Cramer’s Rule
x +y + z=0, 2x +y +z=2 , 4x-y-3z = 20

	Q.2
	Solve the linear equations using Cramer’s Rule
2x+ y+2 z=5 , 3x-y - z=11 ,4x+7y +8z = 20

	Q.3
	Solve the Equation 
                  3       5      7
                  1       9       31            = 0
                 9    15      2X+1



	Q.4
	Using Newton’s backward difference interpolation formula find the polynomial  f(x) whose graph passes through the points   (0,5) (1,4) ,(2,6)

	Q.5
	Find f(70) using Newton’s forward difference Interpolation formula 
	 x
	19
	39
	59
	79
	99

	F(x)
	41
	103
	168
	218
	235






1069
	Q.1
	Find f(72) using Newton’s forward difference Interpolation formula 
	 x
	19
	39
	59
	79
	99

	F(x)
	41
	103
	168
	218
	235




	Q.2
	Solve the linear equations using Cramer’s Rule
2x+ y+2 z=5 , 3x-y - z=11 ,4x+7y +8z = 20

	Q.3
	Solve the Equation 
                  3       5      7
                  1       9       31            = 0
                 9    15      2X+1




	Q.4
	Using Newton’s backward difference interpolation formula find the polynomial  f(x) whose graph passes through the points   (0,5) (1,4) ,(2,6)

	Q.5
	Find f(70) using Newton’s forward difference Interpolation formula 
	 x
	19
	39
	59
	79
	99

	F(x)
	41
	103
	168
	218
	235







1097
	Q.1
	Find f(72) using Newton’s forward difference Interpolation formula 
	 x
	19
	39
	59
	79
	99

	F(x)
	41
	103
	168
	218
	235




	Q.2
	

	Q.3
	Solve the Equation 
                 2 X       1       1
                  1       X      1           = 0
                 1        1      3X

	Q.4
	
Write down Minors  and Cofactors of each element of the Matrix 
	 0     1     2
                                  1      2     6
                                 3      5      1              

	Q.5
	Solve the Equation 
                  3       5      7
                  1       9       31            = 0
                 9    15      2X+1



1175
	Q.1
	Using properties of determinant solve the following equation 

a+x         a-x        a-x
                a-x          a+x       a-x                = 0
                a-x          a-xa+x


	Q.2
	Find dy/dx  where y = (x3+x-1)/(x4-2).

	Q.3
	Solve the Equation 
                 2 X       1       1
                  1       X      1           = 0
                 1        1      3X

	Q.4
	
Write down Minors  and Cofactors of each element of the Matrix 
	 0     1     2
                                  1      2     6
                                 3      5      1              


	Q.5
	Solve the Equation 
                  3       5      7
                  1       9       31            = 0
                 9    15      2X+1





